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Unit 4 Division

A. Tick (¥) the correct option.

1.127 +0 =
a. 1 b. 0 c. 127 d. Meaningless
2. 4025 by 100 gives
a.Q4,R25. b.Q25 R40 c. Q40, R 25. d. Q 100, R 0.
3. f14x6=84 ,then84+6=_
a. 14 b. 6 c. 84 d. 14 x6
4. The largest remainder that can be left when a number is divded by 9 is
a. 8 b.9 c. 10 d.0
5. What number when divided by 6 gives quotient 3?
a. 2 b. 3 c.6 d.18

B. Solve and compare using >, < or =.

1.48+1 __ 48+48
2.35+7 ____ 35+5
3.64+8 __ 56+7
4.700+10 700+ 100
5.0+6 6+6

6. 350 + 1 3500 + 100



C. Divide and verify the answer.
1.259 +7 3.723 +15
2.1042+9 4.2308 + 28

D. Solve these word problems.

1. 648 flowers are used to make 18 garlands. How many flowers are
there in each garland?

2. 24 dolls are packed in a box. How many boxes will be needed
to pack 1048 dolls?



